XT4216ARS0SW6C

AN R P NET
T & =

IN—NABFXE

NS16-154-00



Wz ~TiE K WISEEE AR XT4216ARSOSW6C

< BAfSE : mm>

BLEEE F 805% 18
466 OF16Y37UN
(BEEHSOBEED ) 74 (CCHMITTIUN) ffgw
BEE BLEEER
GFieTmTIR CFl6U=To- = |
(CCHM 328 (CCHMYmTUN) ] 30 :
SEESIN) 313
253 ) 70
I8 H(204A) Q\q)
39 ~| o o Y
<™ w - 1= o~
. ol o § < Y (& g P Y
=" O } —|-| G !
BESSE AL —
OF 16 62 / < X(204) —
vaTh 5] cL1sa) =71 T4
UsTUR) /121062 AZ(204) T 3
252 BS(C31) 39 GEXIEER
EBRESE EAR.
Tenm 359
YUsTUNEP) 31780 250
170 216
270 b100.8 100
o Ba = )
RERINE h e 20 A -
== 1T - .
== ¢
S == T D]
L |
N ” 2 o
2 B
0 N H: —
= :ﬂ A M Al T
R & =
T [\< ?E; 1 30
oo i
ol 22 i
S K
g o
T = s g
N g -l
‘% ~l o
— =AY
o N| o
<~ V (oo}
O - H
TE TR B BN g Rt
186 3
154 34 216
(RRIRIAR Y T XBRTE Y F ) EERFSVDBRFES
SR : R~ GEME : TV ELND . 10Y8,/0.5. 78Y0) — 4((')"'“)
BETEREE BT R — K o1
BESH | o4 | 2889 | Suv: BEM ROWA| BT jaesx » 51
it o BLWEEE - RE| 38
= N 3 - T = =
REERE [ legrimbesr] o000 5 ity opn ben = B R &R &| 24
EE . T T S S S S
R CEEBT rsucwae gt T 2 T SKN/AD e BE & m
BIP7)- [BECIBEER]| WX 0BT 1 | 5510 6KNNF |anwavssoess.| — BE B R 38
AL CEETE woas 301 Mio 4 0.3KN/ABE |RiRRE = K L > 75
P SETE Ji\v17 [3::\vg N5X12 5 0.5kN/AME = ) /ﬁ % 25
H¥ERBORE - GAMIOBEL. BTSERSRE14478
FTERREOBEM AN ERE2EBETTEZEDDIFQO—LBZRAETDF J 20 ML TULNFET.
2016 4E 10 H 1ER%

(Q’URPOSE




T

et

faimiERE ARV XT4216ARS0OSWeC

5B 2 XT4216ARS0OSW6C
sl v GH-H240Z(A)TF
® B A PSERREN (GHRER)
BREE(Kkg) 42 (BAKEE:45)
7 A ®@ %A 134
_L B 5 44.2(38.000kcal/h)
H;TEQ}E E = 16.1(13,800kcal/nh)
B 8 58.1(50.000kcal/h)
% a5 RN ENRRE
?bkwﬂ) BLEE 9.88(8.500kcal/h)
ik & M'Of»z“QEW?S?);%‘K?Q\)/MMU
0z BRY 95.0
o BB 87.0(HEE87.0. SE87.0)
ATE (h) | manE 93,0
EREK 112
B2 = B (i) L9 (%5 ER - AHERK )
=N R TALINBRAR
BB R AR BEHIBHER R
RALSE 29.00/min
REESIARE 1.90/min
=IKVEENKE 10.0kral0.1kgf/cm? ) (BRDHDHES)
ERNE ( B1FE ) 100~T50kPal1.0~T,5kgf/Ccm? )
= , % Lt 151 1 45
EERENR g2 £t 151 #5142
BLNEEAR EREIE R
#aIX - 5% 200 (R3/4)ARY
i BVNEEE - R OF16(CCHM)Y 3/Uh
g B K 8 * CHMY' 3{UN(6P)
SEE R QF16(CCHM)Y 34Uk
Ol L >/ 15A(R1/2)ARY
= 7 S 200 (RI/4)VARY
== n
g2 = C31 (FUR)
il EXEG
B E ACTOOV
DD 2EVST
ol o |1 B 1. 5W(A%  5AUEIVREE)
w52 (mmEs 280V
R AS 83 BAIION

T RAKERATEE (KB U —-A1)
TP YOSREERE (T 7))
IDHZLZEEE (UL - L0Y NAT)
BALE2RE (/A ILAT)
BERULZERE (X TUTAT)

IKAITEESEE (KRBT )
RETRIEE (B —Y— + R T&ER )
REZERE (REUL-AT)
BEFILEE (BEE 1- X1 )
FEERELRE (Y -IP TV —/\-FI3)

THEHE I%aHE ORU-NR(-D) BRI

ATV BFUTIY ERJTIV(RE)
1A ( 450m: S0-4537, 650m: S0-6537)
&A1= (450m:C-4537. 650m:e-6531)
FRIURRY IR ( SB-1105)

BAIREEE  450m: BK-4503. 650m: BK-6503)
ENREICYN(E1-02)

T2y NSANPITI-(ELA-1)
JE12-R

BRPI79

AR - TEFRFARDR. FESE<LEEITDCEHHDET I,

2016 4F 10 A 1ERL

(a’URPOSE




